m

1

0.24

» [c(DSe\f
N
N

o

o
=
oo

o
[N
o

IIII|IIII|||||__III|III|III|III|III|III|III|III|III|III|II|||||_|_

1/0 do/dsqgrt{d

o
=
D

0.12

0.1

0.08

0.06

0.04

0.02

[EEY

Ratio to ATLAS

0.5

7000 GeV pp Jets
'I'I'I'I'|'I'I'I'I'|'I'I'I'I'|'I'I'%
_ O]
I- >
Splitting scale\/ d,; (anti k_(1.0), 500< p_< 600, |y| < 2.0) ;
m  ATLAS @
POWHEG BOX r3744 default A
—a4— Pythia 8.308 default S!
o
5]
=
x

mcplots.cern.ch [arXiv:1306.3436]

_III|III|III|III|III|III|III|III|III|III|III|III|_

=F.
x/ _1
| —0.5

30
sqrt{dzs} [GeV]



	Contents
	Page 1


